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Topic:- General Knowledge and Logical Knowledge

1) Study the instructions carefully and find the value for the following:
Here;

+ => Multiply

* => Division

/ => Addition

- =>Equal to
= =>Minus /

=i &1 wrauTiyd® sremaq &¥ ok Fafafea & fog ue @i
Tg;

+ => Tum

* => YT

/ => TR

- => & AR

= =>YcClq

25*5+10=12
1.7

2.38

3.5

4. 12

Correct Answer :-

» 38



2) Which was the capital of the Bahamani Sultanate? / a%mﬁ Jodad B IS B It A2
1. Bijapura/m

2. Gulbarga / Wﬁ

3. Cannannore / P UU[X

4. Oudh / 3H{dY

Correct Answer :-

e Gulbarga / [cTdlT]
3) Saraswati and Khan are tributaries of river / Il \’rﬁ?' @ feaet LRIRED T-l'ﬁ'lﬁ%"
1. Narmada / THT

2. Yamuna / T
3. Chambal / 9+

4. Shipra / fRro

Correct Answer :-

 Shipra/ R

4) If MOZART is coded NNAZSS, then how is KATHMANDU coded? / f¢ MOZART &1 NNAZSS |

PifSd frar ST 8, @ KATHMANDU &) 33 Sifsd fovar s
1. LBUGNZOCV
2. LZUNGZOCV
3. LZUNGZOCV

4. LZUGNZOCV

Correct Answer :-
e LZUGNZOCV

5) The construction of Taj-ul-Masjid Mosque was started by / qToI-SA-AfSIG AfSIg &1 At s-—lﬁ?
R YR far mar o

1. Sultan Shah Jehan Begum / eI QT8 STl cpts)

2. Babar / dlelR

3. Humayun / AT,



4. Aurangzeb / RIS

Correct Answer :-

« Sultan Shah Jehan Begum / o<l MG g1 CHe|

6) Who founded the Ramakrishna Mission? / ITHH T o= ot wuAT feam a1
1. Ramakrishna Paramahamsa / JHG Y] TRHAGY

2. Swami Vivekananda / W@ fddse

3. Raja Ram Mohan Roylwwﬁﬁﬁﬂ

4. Sri Aurobindo / %t 3Rfd~<

Correct Answer :-

« Swami Vivekananda / WTH! fad&THg

7) Find the odd one out / T fauH JTd SHIfeTC:

1. BDEF
2. FGHI
3. STUV

4. MNOP

Correct Answer :-

« BDEF

8) Find the odd combination of letters and numbers from among the following: Fafafead a Gf&lﬁ
3R wEait o1 faww wae J1d 39

i. 2075010 ii. 2075010 iii. 2075100 iv. 2075010

4. iii

Correct Answer :-



9) In a certain code language, mep zap dup means lunch and dinner, pep mep tep means hot and cold, clep
tep nep means very hot summer. Which is the word for cold in that code language? / U T HIS HIUT 'l?f,
mep zap dup BT 3 & lunch and dinner, pep mep tep BT 3 & hot and cold TUT clep tep nep BT 3 o very hot

summer BT 8| S BIS T A cold & T f5 v1eg 1 g3awmar foam wan 2
1. pep
2. clep
3. tep

4. mep

Correct Answer :-

10) In a certain code language, I love cricket means Liv Da Bin; | love music means Bin Liv Zo; | play music
means Zo Bin Na. Which is the word for Cricket in that code language? / Tch WTH IS HTHT ﬁ, I love cricket
#1 31 Liv Da Bin; I love music PT 31 Bin Liv zo AYUT play music b1 31 zo Bin Na Eﬂ?IT %I £ IS HIT
¥ cricket ¥ 1T forvy v1eg o1 gwdTe f5aT T 32

1. Da
2. Bin
3. 20

4. Liv

Correct Answer :-

e Da

11) If ANIMAL is coded BPLNCO, then how is LAMINA coded? / afe¢ ANIMAL Y BPLNCO | Pifed fmar

STl 8, a1 LAMINA ) $Q Sifsd forar S
1. MCPIPD

2. MCPIQD

3. OCNMPB

4. OCNLPD

Correct Answer :-

e MCPJPD



If CLINIC is coded ENKPKE, then how is DOCTOR coded? / afe cLINIC DY ENkPKE T PifSd fHar SITar g, @t

DOCTOR B $A HifS far wmam?
1. FQEUQT
2. FQEUQS
3. FQEVQT

4. FREVRT

Correct Answer :-
e FQEVQT

13) In how many ways can 5 red and 4 black balls be selected out of the 8 red and 6 black balls? / 8 ¢IT¢T

3R 6 P [ Bt g H A 5 76 3R 4 BT Aaf B fobaq a8id | AT o1 b1 32
1. 720
2. 360
3. 840

4. 420

Correct Answer :-

e 840

14) In which year was the Environmental Protection Act passed in India / HIRd o ygtazor qra&n

siftfrm foa o & uifea gam am
1. 1986
2. 1996
3.2014

4. 2004

Correct Answer :-

15) Whose memorial did Narendra Modi inaugurate on 27" July, 2017 at Rameswaran? / AR H 27

ATs 2017 B! T VRS BT A% HIG! A Igured fdbar ur?
1. J Jayalalithaa / S Sgaferdm
2. APJ Abdul Kalam / TGTS! SHogdl hellH



3. Kamal Hassan / hHA 844

4. P. Rangaiah Naidu / 4t g BIRIS)

Correct Answer :-

« APJ Abdul Kalam / OIS 3fsgd HaTH

16) Which organization was the first to develop a supercomputer in India? / HIRd | JURHP YR P

BT S aTeT Uuw WS B AT >1?
1. C-DAC / T-8&

2. Infosys /E'Cbﬁﬁm

3. Wipro / faot

4. TCS / TIHITH

Correct Answer :-

« C-DAC /-8

17) Which of the following states receives the rays of the sun first in the morning in India? / HIRd A

T A DI 91 357 T W gauyH gF $1 fHeon &) ured wear g2
1. Tripura / FAGRT

2. Arunachal Pradesh / 3REUTAA W=l

3. Sikkim / Rifdwg

4. Meghalaya / HeTed

Correct Answer :-

« Arunachal Pradesh / 3R=UITd TSR

18) What is the maximum tax slab according to the new GST Act? / -G Gﬂm Sfufaw & SAR
SfRPan T AT 7T 82

1. 26%
2. 28%
3. 35%

4. 30%

Correct Answer :-



19) IAF's Sukhoi -30 fighter was originally designed and developed by / YRA aTﬂ'\QT'IT & '\ﬂ@%—%
a1 fauHl @1 gaa: fera wuifed ok ety feanr

1. Japan / ST
2. Russia / =Y
3. China / @

4. France / I

Correct Answer :-

e Russia/ ¥4

20) Rani Durgawati is associated with / T ?Th?ﬂ Rl WX 9 Tafia &
1. Panna / Ul

2. Gwalior / TaTTeIIR

3. Jabalpur / SIS¢TYR
4. Rewa / Xdl

Correct Answer :-

« Jabalpur / SIe[cTYR

21) Parvathy Baul, Bhikhari Thakur, and Punaram Nishad are 2/ urdeft ﬁﬁ, Wt oIPR MR
REfAREE 2

1. Painters / feF®R

2. Folk dancers / @I -

3. Folk musicians / @I IMddR
4. Actors / SATHT

Correct Answer :-

« Folk musicians / il TIdBR

22) As per census 2011, the most densely populated State in India is / 2011 P STRIUMT & SR, HRd

# waffre o=t Sreard} aren =T &



1. NCT of Delhi / TS IraTeiT=t &7 et
2. Sikkim / RifdHT

3. Bihar / S8R

4. Pondicherry / W

Correct Answer :-

« Bihar/f98R

23) ‘Bharat Ratna’ Awards was given for the first time in / ‘HRd ¥¢T” QRIPR tl??ﬂ TR A ad &
e o war ot

1. 1956
2. 1952
3. 1957

4. 1954

Correct Answer :-

24) King Bhoj was a part of the ___ Dynasty. / XTSIl Yl _ NECRIGT] %WT O
1. Satavahana / ¥ddIgIHl

2. Peshwa / U@l

3. Paramara / URTHRT

4. Saka / T

Correct Answer :-
e Paramara / URTHRT

25) The President of India must have completed the age of / HIRd & ?Tg'qﬁf P FAY FH S E_cF'ﬁ

1. 40 years / 40 Gl
2. 45 years / 45 Gl
3. 30 years/ 30 CL

4. 35 years / 35 ¥



Correct Answer :-

e 35years/35 ¥

26) The Pehsari Dam is located in / U9 S ﬂ?f@lﬂ %
1. Ujjain / IS0

2. Indore / saﬁ“\f

3. Gwalior / TR

4. Bhopal / T

Correct Answer :-

« Gwalior / [T

27) The ex-officio Chairman of Rajya Sabha is / 1o HHT ¥ g7l %
1. The President / Tl'gclﬁl

2. Home Minister / I[& T

3. The Vice-President / 3U Tl'gCIﬁ

4. Prime Minister / U HIT

Correct Answer :-
e The Vice-President / 3U Tl'gCIﬁ

28) Shipra is a river that takes its origin from a hill called / o tl?'l?ﬁ o= R Tﬁﬁ DI 3TH Eﬁ?ﬂ %,
L

1. Amarkantak Hills / 3R ch tlgl_&pf
2. Kakri Bardi Hills / H®e! aRe UgTal
3. Mizo Hills / sl ugTe

4. Kewai Hills / as TgTe!

Correct Answer :-

« Kakri Bardi Hills / gl §R<] UgTSt

29) Find the odd one out: / T&% fquy J1d Fifome:



1. Feet and Shoes /?Razrrq?r
2. Head and Cap / RR qur ardt
3. Dhoti and Chest / &lclt TUT BTt

4, Hands and Gloves /BT?IH?JTHE'IQT

Correct Answer :-

« Dhoti and Chest / {icil TUT BTl

30) In a game, a person is instructed to do the following, when certain numbers are called out:
For the number 'one’, the person must put one apple into a basket; for number 'two’, he must put
one guava into the basket; for number 'three’', he must put one orange into the basket; and, for
number 'four', he must take out one apple and one guava from the basket.

The order sequence executed by the person is as follows.

12332142314223314113234

How many fruit will be there in the basket at the end of the sequence shown above? /

fr<lt Qe ¥, 919 $© W G=ATE Siel! 9l §, o U safed B FgrgaR s R R ema 8 :

W 'TF" & forg, ufa &1 SIpst § U A W1 I1feQ; T&AT 'S & forg, Iq AAH3) § U 3
TGAT FIfRT; & " & forg, 3@ A1 § v ARl I@-1 T1ffe; aur 92 AR & forg, 39 )
A TP U9 UG TP 3HIG 916 (pTa-T 91gu|

sfe grT fFreafea srgspw Famrgar 7
12332142314223314113234

SR fe@Te 7T 3 & 3id # eI H fha wa gi?
1.13

2.11

3.12

4. 10

Correct Answer :-

e 11

31) In which city is the world’s first partition museum located? / QﬁNT DT Ygdl Ao HUTgdd foa
TR A R 82

1. Calcutta / il
2. Hyderabad / %aﬂa G
3. Amritsar / 3{HdX



4. Delhi / faeett

Correct Answer :-

o Amritsar / HIH

32) Select the option that is true about the Statements and Conclusions given:

Statements:
Some calves are cows
Some cows are buffaloes

Conclusions:
I. Some calves are buffaloes
II. All calves are buffaloes /

I fawed 31 9u+1 Fifg e Gy 7T Hy=1 3R fewel & av § T8t &

Y

EEAEERIEN

e

1. 3o 958 AN E

II. 9t os U9 §

1. neither conclusion I nor conclusion II follows / 7 &1 f¥5HY 1 3R 7 & FAsH 11 SR - §
2. both conclusion I and II follows / fISH Y I 3R 11 GFI SR R &

3. only conclusion II follows / Had fISHY 11 SITTRUN Hal &

4. only conclusion I follows / A FT5HY I SFIHRUT HdT §

Correct Answer :-

¢ neither conclusion I nor conclusion II follows / = _Eﬁ ﬁ'@b_él G?IT «J 33[ ﬁEﬁﬁ 1T 3AFIRT GG %

33) Select the option that is true about the Statements and Conclusions given:

Statements:
No flowers are blondes
All acrobats are flowers

Conclusions:
I. No acrobats are blondes
II. Some flowers are blondes /

39 fapeu &1 g9 P sife A e wy=Y R fAseul & 9 & I8! 8:



HYA:

@I% Wt ol wilvs e ©

Tt e pa g

fsp:

1. B W} Farere s T8 8

II. $© bd s 8

1. neither conclusion I nor conclusion II follows / 7 &1 f5HY I 3R 7 & FAsHY 11 STTRT & §

2. both conclusion I and II follows / F55Y 1 3R 11 ST A &
3. only conclusion II follows / &Had sy 11 STV pXdl g
4. only conclusion I follows / Had pY 1 STV hdT g

Correct Answer :-

« only conclusion I follows / Had 5HY [ TRV BT §

34) Select the option that is true about the Statements and Conclusions given:

Statements:
No locket is pink
Some chains are lockets

Conclusions:
I. No chain is pink
IL. No locket is red /

39 faw e &1 994 PR Sifp I T8 HYAT 3R fFrepuf & R & T @:

DY

®Ig Ut diche Tarret T &

ﬁw:

I 313 off wiofiR et 98 @

II. 31 +t dihe ara 16t §

1. neither conclusion I nor conclusion II follows /=T Bt fs I 3R 7 g} Feh 11 IR0 FHRd §
2. both conclusion I and II follows / fISH Y 1 3R 11 GFT SR B &

3. only conclusion II follows / Had fISHY [T SFTHRUT HXal 5

4. only conclusion I follows / B HY [ TRV BT §



Correct Answer :-

« neither conclusion I nor conclusion II follows / 1 B FshY 1 3R 7 8} Fhd 11 SIXRUI Hd &

35) Select the option that is true about the Statements and Conclusions given:

Statements:
All friends of mine are talkative
Swapna is not talkative

Conclusions:
I. Swapna is not my friend
II. Swapna must speak /

9 fawer &1 T Fiforg wifes e e Fy= ik et & o & w8l 2

YA

oY gt forr At ©

SEREICRIE LI

fsa:

I Yaur 9t i 1Y 8

II. XGUT I SieT a1gy

1. neither conclusion I nor conclusion II follows / 7 &1 f5HY 1 3R 7 & FAsh 11 SR & §

2. both conclusion I and II follows /ﬁWﬁI GﬁT 11 t‘:l"I\I ST B %
3. only conclusion II follows / &Had By 11 STV pdl %
4, only conclusion I follows / Fad (TP | SR Hl %

Correct Answer :-

« only conclusion I follows / Had fsh | STV hdT g

36) The series given below contains a sequence of numbers. Identify the incorrect combination: /
W & 5 Jaen o SRl &1 US HU SUfRId & | Tad Ao Ugar-ig:

2,5,11, 23, 46,95

1. 11

2.95

3.5

4. 46



Correct Answer :-

e 46

37) Complete the series choosing the missing number: / &I ST oD Y&l C| T

PIforg:

55, 65, 85,95,115,
1. 135

2.155

3. 145

4. 125

Correct Answer :-

e 125

38) Complete the series choosing the missing letter/s: / &l S&R/3M&R] DI ECCTEICR] CJ|
RT BIOTT:

ab__aabb____bb__
1.b,a,4a,a
2.b,a,b,a
3.a,b,a,b

4.a,b,b,b

Correct Answer :-

39) Complete the series choosing the missing number: / T BT TAB YTAT HI GRT BIOIC:

729, 243, 81, 27,

1. 15

2.3

3.9

4. 18

Correct Answer :-



9

40) Complete the series choosing the missing number: / T JBAT TAB YT BT GRT HIOIC:
0, 6, 24, 60,120,210, _

1. 223

2. 336

3. 445

4. 286

Correct Answer :-
« 336

Topic:- Mental Ability and Mental Aptitude

1)
In the sequence shown below, which figure comes next? . A B3 ™ &7 & 39w BTﬂ?ﬁ Fia o
HEEM

d C d E ?

=

Correct Answer :-



If the following two squares shown below overlap, which one of the following options is formed? / AT
e @ o1 focafaa g & o e & & &9 &1 v& Aeed a= T B

Qo

4.

Correct Answer :-

[




In the sequence shown below, which figure comes next? /e B 9 & & 39l Eﬁ?ﬁ Hia o7

0 b D@

5
&
&

Correct Answer :-

4) |tcost 30 paise to carpet a sq cm of a room. How much would be the expense for carpetingaroom 3 m

x4m?/ Uh HAY & Yo daHeL & SR & @ar 30 99 &1 ar 2. x 4. F AT &
FRUC &I AT b= grm?

1. Rs. 36,000 / 36,000 ST
2. Rs. 27,000/ 27,000 ST

3. Rs. 18,000/ 18,000 ST



4. Rs. 45,000 / 45,000 ST

Correct Answer :-

« Rs. 36,000 /36,000 3UY

5) The marks scored by Rahul in English is 85, Hindi 95, Science 92, and Mathematics 95 out of 100 in
each subject. How much should Rahul score in Social Sciences out of 100 to get 90% in the Exam? /IIg¢l

ERTUTW 58 T 30, 100 A A 7; S 3R A 85, & & o5, A= & 92 SR nfora # 95 § | Tiga@ 1
T # 90% PR B & e grrfore fagm A faa o @ g

1. 85
2. 84
3.83

4. 82

Correct Answer :-

e 83

6) Two trains, 100 m and 120 m long, are running in the same direction at a speed of 64 kmph and 52 kmph,
respectively. How long will it take for the first train to cross the second one? / 100 Tt Gﬁ? 120 9. ol ?f

o T o= | wuRr: 64 fei/a. o s2 fdt . &Y wifa & 7 36t &1 veelt 291 gt =t foamy
Y § UR HY ST

1. 44 sec/ 44 ﬁ
2. 60sec/ 60@.
3. 66sec/ 66 ﬁ

4, 55sec/ 55 @f

Correct Answer :-
e 66sec/ 66 ﬁ

7) Raghu buys a Nehru coat in Khadi Bhandar whose marked price is Rs. 150. If the discount allowed is 20

%, find the discount amount?/T‘E[ETEﬁ Wﬁwﬁwﬁzm%ﬁwmm 150 TUY
21 39f 3T W 20% Fe fAad 8 at ge ST |1 82

1. Rs. 30/30 30T
2. Rs. 20/ 20 ST
3. Rs. 50/ 50 SUY

4. Rs. 40 / 40 ST



Correct Answer :-

« Rs.30/30 300

8) Ifx-y+z=6,4x-y-z=4,andz-y=Z,thenx+y=?/'q'|%x-y+z=6,4x-y-z=4Gﬁ?z-y=2?‘ﬁ'x+y=?
1.5
2.6
3.10

4.9

Correct Answer :-

9) Three boys together have 82 marbles. The ratio of the marbles of Alan and Ben is 2 : 5. The ratio of the
marbles of Ben and Chris is 3 : 4. How many marbles does Chris have? / 3 g & U DA 82 C | %I T
3R 9T & Sl BT SUT 2:5 B, 91 3R FU & Sl BT U 3:4 8| P & U fpa da 32

1.44
2. 40
3.42

4. 36

Correct Answer :-

10) If 5 women or 9 boys can do a piece of work in 15 days, then in how many days will 20 women and 9

boys complete the same work?/uﬁsw%aﬁmmsﬂsWWaﬁ 15 ﬁ?ﬁmﬁ%,a‘rzowﬁﬁr&
3R 9 TSP I H B! fovaq T A HA

1.3
2.5
3.4

4.2

Correct Answer :-

e 3



11) A number is as much greater that 237 as is less than 547. The number is / T IS 237 ] 3a=ﬁ'€t

TSI g AT A 547 A PH G, TE TR ©:
1. 392
2. 402
3.374

4. 372

Correct Answer :-

e 392

12) The total strength of students in a school is 150. If the number of boys is x and the number of girls
becomes x % of the total strength, find the number of boys in the school. / T ¥h T H faenfial &1 Pd
TET 150 31 fS ASH! Pt TBAT x B 3R ASTHUT IHA B FA WBAT BT x% @ ol 39 A A ASH| Bl
| qarsh |

1. 50
2.90
3.40

4. 60

Correct Answer :-

e 60

13) Raja bought 1 kg of potato for Rs. 25, next day the price of potato increases by 10% per kg. What would
be the new price of 1 kg potato? / ITST 1 fHT 3T 25 U & Wi B AT 8, AT feT 3T 1 g
10% "f<r fun.ae w1 1 four 3me &1 =71 goa 1 g2

1. Rs. 30/30 307
2. Rs. 26.50 / 26.50 3T
3. Rs. 27.50/ 27.50 ¥UY

4. Rs. 29.50/29.50 ST

Correct Answer :-

« Rs.27.50/27.50 34U

14) Amit, Bhanu and Chintu are brothers in the same order as mentioned. Bhanu is double the age of
Chintu whereas Amit is two years older to Bhanu. If sum of their ages is 37 then find the age of Amit/ G'I'&IT'T,



YT 3R fRig fRU T2 0 & SR U1 § 1 YT @1 3y fig | i @ wiafd siftra urg & &t e
ST 8| Tfe I Mg &1 AT 37 3 Y 31 &Y 3myg Fanait|

1. 10 years/ 10 Y
2. 16 years/ 16 a4
3. 12 years/ 129y

4. 14 years / 14 ay

Correct Answer :-

e 16years/ 16 ¥

15) It rained as much as on Monday as on all the other days of the week combined. If the average rainfall
for the whole week was 5 cm, how much did it rain on Monday? / AR B '\‘TGI'I'G'% g ﬁﬁ%ﬁ?ﬁl’\’
T g5 1 afe IR Tware a1fv=r &1 o 5 A, 8, o THaR &1 fha ik gs2

1.5cm/5 @Iﬂ
2.17.5¢cm/ 17.5 9H.
3.12.5cm/ 12.5 9.

4.30cm/ 30 94T,

Correct Answer :-

e 17.5cm/ 17.5 9HY,

16) Kiran's marks in different subjects were 43, 39, 51, 37, 39, and 49. What will be his average? / ﬁﬁ-ﬁ[

fawal o favor @1 43, 39, 51, 37, 39 3R 49 3i UTW §UI SHBT 3NTd fHa-T g2
1. 44
2. 43
3. 41

4.51

Correct Answer :-

17) A cando a work in 12 days and B does the same work in 15 days. In how many days can both of them

together do the same work? / A Tl &TH &I 1zﬁ-—rﬁW%,Bwﬁmaﬁ 15ﬁ=r1?fm?n%| 30
M P QI fraes fraq e A a3



g §
6 days/ 6-Tc=1
, 3 3

1 1
2 5?1&35; 55 o=

1 1
6—davs/ 6— EFI
3. 3 - 3

4.6 days / 6 faA

Correct Answer :-

18) Two numbers are in the ratio 3 : 5. If each number is increased by 10, the ratio becomes 5 : 7. The
numbers are: / & HRT3M HT U 3:5 8| TS TS T= | 10 WS faur =g oY g srqura 5: 78
SITaT 81 3 Yem e €

1. 15,25
2. 18,30
3.12,20

4.3,5

Correct Answer :-

e 15,25

19) If in an organization 28.56 % of the employees are females, then what is the percentage of employees

who are males with respect to women? / W =T ﬁﬂ'ﬁ' 28.56% H’Tﬁ?lﬁ q'%?l'l'[{ %:, ?ﬁtn%?ﬂ&h %
HTUe! 98T HTH S aTd G311 WGB3 fraq ufa=rd grfi2

1. 50 %
2.71.44 %
3.250%

4.82.4%

Correct Answer :-



20) How much time will a train moving at a speed of 450 kmph and 150 m long take to cross a platform of

length 100 m? / 150 T}, T Tep 2 S 450 fpiiY/e. &Y =mer T =a 361 €, 100 Hie? T @ewid H
fpal X # UR B

1. Zsecs/Z?f.
2.3 secs/3®.
3. 4secs/4ﬁ.

4, lsec/lﬁ.

Correct Answer :-

. 25ecs/2ﬁ.

21) (483*483*483 + 517*517*517) / (517*517 - 517*483 + 483*483) =?
1. 1000

2. 23.4568

3. 5436948

4.1

Correct Answer :-

22) If the speed of a boat in still water is 20 m/s, and speed of the current is 10 m/s, then what is the time
taken by the boat to travel a distance of 6 km upstream? / RR T H U A1d P a1l 20¥13. % 3R YRT
ot are 10 A, B 1 YRT 31 faudia fe=n & ¢ fordt, oY g au w3 ° =119 &1 fora=n awg @wime?

1. 10 min / 10 fiF e
2. 5min/5 B e

3. 20 min/ 20 fFTE
4.15 min/ 15 fiFe

Correct Answer :-

« 10min/ 10 fFe

23) If the cost price of 30 articles is equal to the selling price of 20 articles, find the profit percentage. / 30

TEI3N BT AT Yoo 20 I3 & FIeha ou & SR1aR 8 | A1y wia=ra 31a S|



1. 50%
2. 60%
3. 70%

4. 80%

Correct Answer :-
e 50%

24) In an examination, Shreya's average marks were 70. If she had scored 15 more marks in her Biology
paper and 5 more marks in her Civics paper, her average marks would have been 75. How many papers were

there in the examinaﬁon?/wqﬂ&ﬂﬁ, 29T P 3T 3(F 70 %'I Tlﬁ'ﬁ\_rﬂa-ﬁﬂﬁﬁ 159 AdeA &
5 3fp 3R fAred & O ISP 3ib] BT 3T 75 81 STaT | T A fra uy-u 2nfvre 82

1.4
2.6
3.9

4.8

Correct Answer :-

25) Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ o fad M 9 vat 9 9 i 3l 1 vd & St w9 19 |1 Te 81 82

Robert Adams
Zdebradska 56 - Jazlovice CZ-25101

Ricany, Czech Republic

(i) Robert Adams
Zdebradska 56 - Jazlovice CZ-25101

Ricany, Czech Republic

(ii) Robert Adams

Zdebradska 56 - Jaslovice CZ-25101



Ricany, Czech Republic

(iii) Robert Adams
Zdebradska 56 - Jazlovice CZ-25101

Ricany, Czech Republic

(iv) Robert Adams

Zdebradska 56 - Jazlovice CZ-25101

Ricany, Czech Republic

4, iii
Correct Answer :-
e ii

26) The ratio between the present ages of Rahul and Kunal is 7: 5. If after 10 years, Kunal
will 45 years old. What is the present age of Rahul? / Tgd 3R T B TdH 3T BT SFUTd
7:5 21 10 ITH 91¢, $ATA DI 3T 45 T4 FRAY | g B adur 3y fpa-it 82

1. 31
2.49
3.45

4.35

Correct Answer :-

* 49

27) What is the sum 75% of Rs. 1440 and 25% of Rs. 3360?/ 1440 ¥U3 & 75% 31X 3360
IYA B 25% BT AT fba=T gRI?

1. Rs. 2,500 /2,500 ST
2. Rs. 1,100 / 1,100 TG

3. Rs. 1,460 / 1,460 SUY



4. Rs. 1,920 /1,920 300

Correct Answer :-
e Rs.1,920 /1,920 300

28) The sum of two numbers is twice their difference. If one of the number is 10 then the
other number is: / & TETSHT FHT ANT 3T SR BT AT 21 Tfe TB A A TH 10 § A got W=
B

1. 20
2.25
3.30

4. 35

Correct Answer :-

« 30

29) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: / 9 &1 T8 mﬁ, 3R 3T Tweii &1 v wH fAfgd &1 erd e yg=nfae:
i.woit4032iotw

ii.woit4032iotw

iii.woit4032iotw

iv.wcit4032iotw

4. iii

Correct Answer :-

30) Find the average. r3id Ao |

21, 26, 25, 27,29 & 28
1.26

2.21



3.27

4. 29

Correct Answer :-

e 26

Topic:- Science and Simple Arithmetic

1)
3:_2 — zr;-:il = %— t . What is ‘t" equal to? / 3:2 — E?E = %—t. ar ‘t @eT & ae g
1.3
2.2
3.2
4. -4

2
) How manv cubes each of edge 6cm can be cut from a cuboid of 42cm X 36ecm x24cm? / 42

THT % 36 THT %24 THT arel o787 § 6 UHT F arel gl O F1e =1 §ad £7
1. 186
2.134
3. 168

4, 143

Correct Answer :-

« 168

3)
AB is a chord of a circle with center O and # ADB = 350° . Then » OAB = 1 AB. O &g

arel gedl T U Sifdl & AT 2LAOB=50°F) of £OAB=____

o

1. 65



o

2.55

o

3.50

o

4. 60

Correct Answer :-

o

e 55

4) In the given figure, AB || CD._If # ABO =43° and » COD = 100°, then » CDO = VAT
7T T &7 AB || CD. mf 2ABO =45 g@=m £COD = 100°, @r 2CDO = }

A B
.0
C D
1.55
2. 45
3.35
4.25

Correct Answer :-

o

e 35



The students in a class are divided into four houses, Eed, Green. Yellow, and Blue. The
following graph shows the number of students in different houses from a class. What is the total

strength of the class? / U H& & @Al & =T G&AT oA, 5L, el T =ATel & g Zar @)
et @ faffes weAT & ol & HEar #F g=fer 81 #an § oo o & dean e 82

12

12 4
10 4
Class: 8 -
wEo | B No. of students
oTEr i HEE
4 4
2 4 =
o + 7 . . '
Red

Gresn vellaw Blus

i) BT draT i

1.32
2.37
3.34

4. 36

Correct Answer :-

e 37

—61
12

a6l
12

—13
i2



13
12
4.

Correct Answer :-

7) Phloem is composed of four types of cells: sieve tubes, phloem fibres, phloem parenchyma and

e . / UIYATE U YR BI BIRIB13M I 91 § — Tt i, Tiyarg g, Huae ggad
|

1. phloem collenchyma / TTYdTg RA¥Id®

2. vessels / AIfgT
3. trachieds / SdhI8

4. companion cells / TEAR PIRIBTY

Correct Answer :-

« companion cells / TR HIRBTY

8) A sum was put at simple interest at a certain rate for 2 years. Had it been put at 3% higher
rate, it would have fetched Rs.72 more. The sum is: / Th YRR S 9 & fore ue fAifda gv Aty
1ol IR T TS | 9 T8 UFRIIRT 3% 3ifd a¥ W 3l 9, 72 3. B getwRt g |l gaue A g

1. Rs. 1200 /1200 2.
2. Rs. 900/900%.
3. Rs. 1500/ 1500 .

4. Rs. 2000 /2000 .

Correct Answer :-

e Rs.1200/1200°%.

9) Deepak purchased a certain quantity of rice at the rate of Rs.1200 per quintal in which 20%
of the rice was spoilt. He mixes the impurities to make it again that much quantity. At what price
should he sell the rice to gain 10%? / &P 7 1200 3. uﬁrwaﬁawwwaﬂt IGECE
20% TTTA IHR Bl Y| I I8 TRT B & (o1 ITH ferae o1 I/ 10% A1Y 3ifofd w1 & g
59 geg W 91ad a9 g



1. Rs.12 per kg / 12 %. Ufd faa.
2. Rs.14 per kg / 14 3. Ufd foou,
3. Rs.13.20 per kg / 13.20 3. Ufd fan.

4. Rs.20 per kg /20 %. Ufd foa.

Correct Answer :-

« Rs.13.20 per kg / 13.20 %. Wfdl foba.

10) Iron used in constructing a building is coated with a layer of zinc. This helps iron to: / T

AR & fmior A swaaTe frar 1 a1 g ST &1 T uRd 9 Afd forar sirar g1 ug e 91
Hee PIAT 8:

1. Prevent corrosion and rusting / H&RUT 3R T faror #
2. Make it Iighter/@waﬁﬁﬁ
3. Look attractive / 3THY foa o

4, Become stronger / HSIgd CoEk:

Correct Answer :-

« Prevent corrosion and rusting / T&RUT 3R ST fAaRor #

11) Which of the following is cube of even natural number? / %=1 & & ®1 I} v&n 99 WHfas
I T 7?2

1. 13826
2.514
3. 728

4. 1000

Correct Answer :-

« 1000

12) Which of the following ends with digit 1? / f%=1 & & &1 "= @1 Sifew 8w 1 g2
1. 1092

2. 822



3. 1232
4. 772

Correct Answer :-

. 1092

13) The ratio of two sides of a parallelogram is 3:5 and its perimeter is 48m. The sides of the
parallelogram are: / T% JHTAR IgYS B &I Y31 BT SUTA 3:5 TUT SHBT URUTY 48 1. | THIGR
Tgde Bt Yoy = 8

1.9m and 12 m/9 #t. ©d 12 #t.
2.9m and 15m /9 H. Td 15 .
3. 6m and 10m /6 Ht. Td 10 HI.

4, 12m and 15m/ 12 9. T4 15 #I.

Correct Answer :-

e 9mand 15m/9 . Tg 15 |,

14) What is the remainder obtained when x> - 6x2 + 11x — 6 is divided by x2—4x +3?/afe x3 -
6x% + 11x — 6 B x> — 4x + 3 ¥ favfora far wme ot Jwwe & s

15) The process of seeping of water into the empty spaces of ground is called ./ ST & R

REATHIF R stararasl | wed gl
1. depletion / A&
2. infiltration / 3{d&G

3. conservation / GR&UT



4. rainwater harvesting / Iyt o JUgu

Correct Answer :-

e infiltration / &g

16) The disease which is not infectious is: /ﬁ"T\_rﬁ IhTHD H'E’pf%
1. Cancer/w

2. Pneumonia /?Iﬁﬁﬁ'm
3. Common cold /HTHIY JHhTH
4. Cholera /%Gﬂ

Correct Answer :-

. Cancer/%\‘:l?

17) Which of the following is NOT an organ? / ff=eaa Cac| T ST qﬁ%"

1. Heart / §ad
2. Brain / AfKTSH

3. Liver / gd
4. Muscle / Uit

Correct Answer :-

e Muscle /ﬁaﬁ

18) Which one of the following function of epithelial tissue does NOT match? / SUD T SHadl & =

STl A A DI T TH S U 82

1. Lining of kidney tubules is made up of cuboidal epithelium./ gdeb B BICT ATl BT SRANTATHR IUDHll

1 BT ]

2. Lining of blood vessels is made up of squamous epithelium. / Yo AP BT SR Yeh ! SUDH AT J T

BT g

3. Lining of small intestine is made up of stratified epithelium. / Bt 3fid &1 Wﬁﬁmﬁwm

g

4. Epithelial cells with cilia are found in respiratory tract of our body. / JAHD gad YDl m%"ﬁlﬁ IRR

AR GIRERIR=RN ERSIn IR

Correct Answer :-



 Lining of small intestine is made up of stratified epithelium. / BIcT 3id BT ARATANT IUH AT I §47 BidT

gl

19) Plants with soft stems are called: / A = 918 Ul ) BT SACT &:
1. Tree /3&
2. Tendril / UdT-

3. Shrub/'s?ﬂ%ﬁ

4. Herb / QTh

Correct Answer :-

20) The area of a trapezium is 1586cm? and the distance between the parallel sides is 26¢cm.
If one of the parallel sides is 38cm, then the length of the other is: / T% THAT BT aawd

1586312 § TUT [HiaR Yoieil & uey gif 26 A 1 afe T Jwiar Yo 389 B, df gust Yo 3t
dars fae gifi:

1. 64cm / 64 Tt
2. 160cm / 160 IH
3. 122cm / 122 Q8

4. 84cm / 84 TTY

Correct Answer :-

« 84cm /84 IT

21) Which of the following are physical changes? / fedd s Udh Wifaw ufad= %?
i) Rusting of iron / &g &1 ST

ii) Combustion of magnesium ribbon / TRy f¥a= &1 389

i) Cutting of fruits / Wdl &1 BT

iv) Boiling of water / SIcl T 3ddHT

1. (i) and (iv) only / R (iii) quT (iv)

2. (ii) and (i) only / W (ii) T (iii)

3. (i) and (iv) only / Tt (i) @1 (iv)



4. () and (i) only / % (i) a1 (ii)

Correct Answer :-

« (iii) and (iv) only / I (i) AU (iv)

22) Compound X is used for white washing and it reacts with water vigorously to form Y. X

and Y are: / GifiIe X ST ITGRT YaTS & 1T 81T 8, TUT 98 &Td & 1Y yaeran o Rfpar &3 Y &1
fafor srar g, x auTY &:

1. Mg (OH ) »: MgO
2.Ca(OH),:Ca0
3.MgO : Mg (OH )
4.Ca0: Ca(OH) 5

Correct Answer :-

e CaO:Ca(OH) >

23)  Look at the expression below:

4848 » 999 = 4843152 Which of the following expression is equal to 1212 x 3337
| f# = o &1 &

4848 x 999 =4843152TaFa & T FI9 TOT & 1212 x 333 & WG 67

1 4843152 x 12

2. 48431524

3. 4843152+ 12

4. 4843152+3

Correct Answer :-

e 4843152+ 12

24) A shark swimming in the ocean illustrates: / 9% # &R E e WS Tz feard B
1. Drag/?:beUT

2. Static friction / Rifge gofor



3. Sliding friction / gt Ty
4. Rolling friction SRR

Correct Answer :-

. Drag/Eb_EfUT

Give the correct sequence of events occurring in the beginning of a new life.
i} formation of gametes

i} formation of zygote

i) fusion of male and female gametes

iv] embedding of embryo inthe wall of the uterus

| HEATHT T AT Slael & ARH H G drell Tl oA adsy|
) TIHES F AT
i)  FAEde @ AT
i)  #X Ud HGl GIHBI BT EFHHT

iv) e @I i # T & ST

1., iii, v, i

2. i, iii, i, iv

3.1, i, iv, iii

4. i, ii, iii, iv

Correct Answer :-

e i, iii, i, iv

26) Electromagnets are used in: / aw-wﬁmm“ﬁﬂﬁmm%
1. Amplifiers / TTATRR |
2. Transformers / mﬁ
3. Electric bells / fdgad dct o
4. Refrigerators /fpoRed o



Correct Answer :-

e Electric bells / fdgga @<t 4

27) The least dense planet having density less than that of water is: / [¢UdH HY- U5, et Ja+ar s
Fara A M Fu g,

1. Jupiter / m
2. Neptune / W

3. Uranus / ?1371?
4. Saturn /QT&T

Correct Answer :-

e Saturn / RUC]

28) To which division of Cryptogams do Algae belong? / E?ﬂ (i’lawr) fpea & f5a SIIHIT I gafed %?
1. Thallophyta / deBIET

2. Angiosperms /Qﬁ:@mﬁ

3. Gymnosperms o

4. Bryophyte / WWIS_C'
Correct Answer :-

« Thallophyta / d@hTSeT

29) pf4x+2y = p4x+10, then y is equalto:/m4x+2y=24x+10,?ﬁyﬂﬂﬁﬁﬂ%wg:

Correct Answer :-



30) An ecosystem includes: / UIRFRIfAF a7 A =T fda g4 &:

1. Non-living objects only / Had fAeig d«j,QI

2. All living organisms only / Had A Tolig gToft |

3. Sometimes living organisms and sometimes non-living objects / FH-HH Tgoilg urol qur Hi-wt fAeifa
aul|

4. Both living and non-living objects / Toitg aut fsifa aﬁq Ml

Correct Answer :-

» Both living and non-living objects / Toitg aut foffa IV S|



